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(106.4) (105.A) (4A)
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B5:12.5% B5:111% B5:15.3%
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(BA) (7A) (21A)
03:25.0% 03:9.1% o3:5.7%
(tA) (1A) @A)
02:0.0% 02:00% 02:00%
[ON] 0A) 0A)
B1:0.0% BL0.0% BL0.0%
[ON] 0A) 0A)
B0:0.0% B0:0.0% B0:2.9%
(0A) (OA) aA)
< FfE=3.75 > < FifE=418 > < FifE=4.26 >
SNEEEERA
1A—60A 61 A—200A
m521.2% @5:0.0%
(603A) (OA)
B4:51.8% @4:100.0%
(1472.0) aA)
03:19.8% @3:0.0%
(563.A) OA)
D2:4.6% 02:0.0%
(131A) OA)
oLLa% @1:0.0%
(410) OA)
B0:L1% @0:0.0%
(32.0) (OA)
< FifE=3.88 > < FigfE=4 >
- .
YUITAT4T-Cvi VB
1A—60A 61 A—200A 201 A—500A
@5:0.0% @5:0.0% B5:15.4%
(OA) (0A) (@A)
@4:0.0% @4:0.0% B4:73.1%
(OA) (OA) (19A)
©3:100.0% 03:100.0% O3:11.5%
@A) @A) BA)
o2:0.0% 02:0.0% 02:00%
(OA) (0A) (OA)
@L0.0% @1:0.0% BL0.0%
(OA) (0A) (OA)
@0:0.0% @0:0.0% B0:0.0%
(OA) (OA) (OA)

< FigfE=3 > < FifE=3 > < FifE=4.04 >




[002)5 751X C DB EDEZEBEELZERTELEENVET M ?

5=#<E5RS5. 4=%5B5, B=EBLLEBVARL. 2=F5BHAL, 1=2<Z53BbhHEL,  O=IEBFEMNENHLEL,

FrUTHEZERE

1A—60A 61A—200A 201 A—500A
@5:0.0% B5:50.0% B5:200%
(OA) (1A) 7A)
24:0.0% 04:50.0% 04:62.9%
(OA) QA) (22A)
[3:100.0% 03:00% O3:11.4%
(LA) (OA) (@A)
02:00% 02:00% 02:00%
(OA) (OA) (OA)
@L0.0% BL0.0% BL0.0%
(OA) (OA) (OA)
@0:0.0% D0:0.0% 00:5.7%
(OA) (OA) @A)
< FHfE=3 > < FiYfE =45 > < FiYfiE = 4.09 >
BR- AMAEERE B
1A—60A 61A—200A 201 A—500A
B5:11.5% B5:28.6% B5:19.8%
(6A) (124) (194)
04:51.9% 04:45.2% 04:50.0%
@A) (194) (48.A)
3:23.1% 03:19.0% 03:27.1%
(12A) (8A) (26A)
D211.5% o2:2.4% 02:00%
(6A) (1A) (OA)
oLL% o1:2.4% o13.1%
an) (1A) BA)
0:0.0% 0:2.4% B0:0.0%
A aA) ©0A)

< FigfE=3.83 >

< FiofE=3.6 > < EHfE=3.98 >




[002)5 751X C DB EDEZEBEELZERTELEENVET M ?

5=#<E5RS5. 4=%5B5, B=EBLLEBVARL. 2=F5BHAL, 1=2<Z53BbhHEL,  O=IEBFEMNENHLEL,

EHREMER MEHRMEA BI¥HEMEA

m521.4% @5:100.0% B5:15.4%
(3A) aA) @A)
04:28.6% 24:0.0% 04:30.8%
[N [ON] [N
03:35.7% @3:0.0% 03:38.5%
(5A) (0A) (5A)
02:14.3% 02:0.0% DO2:15.4%
@A) [ON] @A)
B1:0.0% @10.0% BL0.0%
(0A) (0A) (OA)
00:0.0% 20:0.0% D0:0.0%
(0A) (OA) (OA)

< FigfE=3.57 > < FigfE=5 > < FigfE=3.46 >




(003875357 R %

2=[FEAEFTRATLVEL,

HAREETCOBEEBRLELED 2

1=2EATLELN,

5=kRATE. 4=BEOHFAL. S=mRHELGE—BRERAL.
Bk X
£PEHE
1A—60A 61A—200A 201 A—500A 501A—
@5:42.5% @5:41.8% @5:57.8% [@5:59.8%
(1609.A) (3314) (473A) (155A)
@4:31.7% @4:34.6% @4:28.9% @4:25.5%
(1203A) (278N) (236A) (66.A)
03:15.8% @3:15.0% 03:104% @3:12.7%
(599.A) (1194) (85A) (33A)
02:6.3% 02:5.1% o2:1.8% o212%
(2400) (40A) (15A) BA)
@1:3.6% @13.5% @111% @1:0.8%
(138A) (280) (9A) 2A)
< it =4.03 > < FiYfit = 4.06 > < FiYfE =44 > < FiYfE =442 >
Bk X
HPEEAE
1A—60A 61A—200A 201 A—500A 501A—
5:46.9% @5:50.0% @5:58.0% 5:55.8%
(23A) (19A) (a0A) (77A)
04:26.5% 04:31.6% 04:30.4% 04:24.6%
(13A) (12A) (21A) (340)
03:20.4% 03:15.8% 03:11.6% 03:17.4%
(10A) (6A) (8A) (240)
02:4.1% 02:26% 02:00% 02:07%
@A) (1A) (OA) (1A)
@1:2.0% @1:0.0% @1:0.0% @1:1.4%
(1A) (0A) (OA) (21)
< FiYfE =412 > < FiYfE =429 > < it =a.46 > < FiYfE =433 >
Ak
RFFHEA
201 A—500A 501A—
@5:62.5% [@5:66.7%
(5A) @A)
04:25.0% @4:0.0%
(2A) (OA)
@3:12.5% [3:333%
(LA) (1A)
02:0.0% 02:0.0%
(OA) (OA)
@1:0.0% @1:0.0%
(OA) (OA)
< FigfE=45 > < FifE=433 >
Bk X
APERA
1A—60A 61A—200A 201 A—500A 501A—
|5:47.1% @5:56.0% |5:59.8% @5:63.8%
(56.A) (150A) (143A) (30A)
@4:30.3% @4:29.5% 04:24.3% B4:27.7%
(36A) (790) (58A) (13A)
03:12.6% 03:10.8% 03:11.3% o3:43%
(15A) (290) (27A) 2A)
02:5.0% 02:2.2% o2:2.1% 02:4.3%
(6A) (6A) (5A) 28]
@1:5.0% @1:1.5% @1:2.5% @1:0.0%
(6A) (aA) (6A) (0A)
< FifE=4.09 > < FifE=4.36 > < FifE=437 > < FifE=451 >
Ak
BURSERE
1A—60A 61A—200A 201 A—500A 501A—
@5:60.5% @5:60.0% @5:60.6% @5:64.8%
(26.0) (6A) (129A) (46.\)
@4:25.6% 04:30.0% @4:30.5% 04:26.8%
(11A) (3A) (65A) (19A)
o3:4.7% 03:0.0% 03:6.6% o3:8.5%
2A) ©A) (140) (6A)
02:7.0% 02:0.0% oO2:1.9% 02:0.0%
(BA) (OA) (@A) (OA)
@1:2.3% @1:10.0% @1:0.5% @1:0.0%
[t9N) (1A) (1A) (0A)
< Tl =4.56 >

< FifE=435 >

< FifE=43 >

< FifE=4.49 >




[003)8p %= IE L SN RERAR L TCCDIBETBHFLEL-N?

2=[FEAEFTRATLVEL,

1=2<{FATLEL,

5=kRATE. 4=BEOHFAL. S=mRHELGE—BRERAL.
Ak
BIYHEA
1A—60A 61A—200A 201 A—500A
5:26.8% m5:31.0% 5:36.0%
(98A) (1134) (9A)
04:35.8% 04:37.3% 04:24.0%
(1314) (136 A) (6A)
03:23.8% 03:17.8% 03:32.0%
(870) (65A) (8A)
02:8.7% o27.9% o2:4.0%
(320) (290) (1A)
01:4.9% @L6.0% D1:4.0%
(18A) (220) (1A)
< FigfE=3.71 > < Fi{E=3.79 > < FigfE=3.84 >
s ER LR E
1A—60A 61A—200A 201 A—500A
B5:12.5% 5:27.8% 5:26.4%
(2A) (15A) (19A)
04:68.8% 04:50.0% 4:55.6%
(11A) 27A) (40.A)
03:18.8% 03:16.7% 03:12.5%
(BA) (9A) 9OA)
02:0.0% o25.6% o25.6%
(OA) (BA) [ON]
D10.0% BL0.0% BL0.0%
(0A) (0A) (OA)
< FiYfE=3.94 > < FiYftE=a > < FiYfE =4.03 >
FURMEX L 2—HE
1A—60A 61A—200A 201 A—500A
5:25.0% 5:36.4% 5:82.9%
(aA) (4A) (290)
04:25.0% 04:45.5% D4:8.6%
(aA) (5A) BA)
03:25.0% 03:18.2% o35.7%
(aA) 2A) 2A)
02:25.0% 02:00% o2:2.9%
(tA) (OA) (1A)
o1:0.0% o1:0.0% D1:0.0%
(OA) (OA) (0A)
< F9fE=35 > < FifE=418 > < FifE=471 >
NEFEHEHA
1A—60A 61A—200A
5:42.7% 5:100.0%
(12154) (aA)
D4:31.5% @4:0.0%
(897.A) (0A)
03:15.2% @3:0.0%
(a33A) (0A)
D26.6% 02:0.0%
(1894) (OA)
o1:3.9% @1:0.0%
(112A) (0A)
< FifE=4.02 > < FigfE=5 >
— s
YUITAT4T-Cvi VB
1A—60A 61A—200A 201 A—500A
B5:50.0% @5:0.0% B5:73.1%
(1A) (OA) (19A)
4:50.0% @4:0.0% 04:23.1%
(aA) (OA) (6A)
03:0.0% 3:100.0% 03:3.8%
(OA) (aA) aA)
02:0.0% 02:0.0% 02:00%
(0A) (0A) (OA)
o1:0.0% @1:0.0% o1:0.0%
(OA) (OA) (OA)

< Fi9fE=45 >

< FifE=3 >

< FifE=4.69 >




[003]8 75118 SN RERAE L TCORELEERLELN?

5=k{RATE. 4=BIEDOHFTAL,

3= E— A ETAT

2=[FEAEFTRATLVEL,

1=2<{FATLEL,

FrUTHEZERE

1A—60A

61 A—200A

201 A—500A

@5:0.0% 5:100.0% m5:71.4%
(OA) [e2N] (250)
04:100.0% 04:0.0% 04:200%
(LA) (0A) 7A)
@3:00% @3:0.0% 03:5.7%
(0A) (OA) 2A)
o2:0.0% 02:0.0% 02:0.0%
(0A) (OA) (OA)
@L0.0% @10.0% o1:2.9%
(0A) (0A) (1A)
< FigfE=a > < Figfl=5 > < FifE=457 >
- ] 3
BR- AMAEERE B
1A—60A 61A—200A 201 A—500A
B5:47.1% B5:50.0% m5:57.3%
(240) (21A) (55A)
D4:31.4% 04:28.6% 04:29.2%
(16A) (124) (280)
03:15.7% 03:16.7% 03:13.5%
(8A) (7A) (13A)
02:5.9% o2:2.4% 02:00%
(BA) 1A) (OA)
D10.0% o1:2.4% BL0.0%
(0A) (1A) (OA)

< FigfE=42 >

< FigfE-=4.21 >

< EHfE=4.04 >




[003]8 75118 SN RERAE L TCORELEERLELN?

5=k{RATE. 4=BIEDOHFTAL,

3= E— A ETAT

2=[FEAEFTRATLVEL,

1=2<{FATLEL,

EHREMER

5:64.3%
(9A)
04:35.7%
(5A)
03:0.0%
(OA)
02:0.0%
(OA)
D10.0%
(0A)

< FigfE =464 >

MEHRMEA

5:100.0%
(aA)
04:0.0%
(0A)
@3:0.0%
(OA)
02:0.0%
(OA)
@10.0%
(0A)

< FiflE=5 >

HIPHEREE

5:61.5%
(8A)
4:38.5%
(5A)
03:00%
(0A)
02:0.0%
(0A)
BL0.0%
(OA)

< FigfE =462 >




[004)]CDIBEIEITNRICHE->TEDHSNTWVET M ?

5=3<Z585, 4=F3B3, B=EBLELLRAGL, 2=Z3BbiL, 1=2{Z53BbhAL, O0=EZETELL,
i S T
£PEHE
1A—60A 61A—200A 201 A—500A 501A—
B5:30.2% m5:35.7% m5:37.9% m5:39.0%
(11420) (283A) (310A) (101A)
04:54.1% 04:48.2% 4:51.3% 04:49.8%
(20a8.0) (382A) (420) (1290)
03:11.6% O3:12.6% 03:7.9% 3:10.0%
(a401) (100.A) (654) (261)
D216% 02:09% D2:16% 02:08%
(61A) 7A) (134)
oL25% @12.5% DL12%
(94A) (20A) (104)
00:0.0% 20:0.0% 00:0.0%
(0A) (OA) (OA)
< FigfE =4.08 > < FigfE=4.14 > < FigfE=4.23 > < FigfE=4.26 >
i S T
MEETE
1A—60A 61A—200A 201 A—500A 501A—
35:14.3% B5:52.6% B5:39.1% B5:33.6%
7A) (204) @270) (46.1)
04:77.6% 04:42.1% 04:53.6% 04:48.9%
(38A) (16A) [EN] (670)
03:4.1% 03:2.6% 03:7.2% 03:15.3%
@A) (1A) (5A) (210)
D2:2.0% 02:00% 02:00% o215%
@A) (OA) (OA) (2A)
B1:2.0% o1:2.6% BL1:0.0% BL10.7%
@A) (1A) (OA) (LA)
0:0.0% B0:0.0% B0:0.0% B0:0.0%
(OA) (OA) (OA) (OA)
< FftE=4 > < FiYfE =442 > < FiYfE =432 > < FiYfE =413 >
oy
RFFHEA
201 A—500A 501A—
B5:25.0% B5:66.7%
@A) @A)
[4:50.0% 04:33.3%
(@A) (1A)
03:25.0% 03:0.0%
@A) (OA)
02:00% 02:00%
(OA) (OA)
BL0.0% BL0.0%
(OA) (OA)
B0:0.0% B0:0.0%
(OA) (OA)
< FigfE=4 > < FifE=4.67 >
i S o
APERA
1A—60A 61A—200A 201 A—500A 501A—
B5:40.7% @5:48.1% B5:393% B5:62.5%
(48\) (1290) (941) (30A)
04:46.6% 04:45.9% B4:50.6% 04:31.3%
(550) (123A) (121A) (154)
O385% @3:5.2% 03:6.7% 03:6.3%
(10A) (144) (16A) (BA)
ouL7% o2:0.4% o217% 02:0.0%
@A) (LA) (aA) (OA)
BL25% @1:0.4% oLL7% BL0.0%
(BA) (LA) (@A) (OA)
B0:0.0% @0:0.0% 00:0.0% B0:0.0%
(0A) (OA) (OA) (OA)
< FigfE-=4.21 > < FifE=4.41 > < FifE=4.24 > < Tl =4.56 >
Ak
BURFEEA
1A—60A 61A—200A 201 A—500A 501A—
B5:50.0% B5:50.0% B5:39.4% m5:32.4%
(2) (5A) (8a1) (230)
4:34.1% 04:40.0% 34:50.2% 04:64.8%
(15A) (4A) (107.4) (46.1)
3:11.4% 03:0.0% 03:7.5% O3:2.8%
(5A) (0A) (16A) 2A)
O245% 02:0.0% D2:1.4% 02:0.0%
@A) (OA) (3A) (OA)
B1:0.0% B1:10.0% oL14% BL0.0%
(0A) (1A) (3A) (OA)
B0:0.0% B0:0.0% 00:0.0% B0:0.0%
(0A) (OA) (OA) (OA)

< Fi9fE=43 >

< FifE=42 >

< FifE=425 >

< FifE=43 >




[004)]CDIBEIEITNRICHE->TEDHSNTWVET M ?

5=3<Z385,

4=%585,

BI=ELLEBNRAL,

2=F5BHILN,

1=2<Z3BbRL,

O=[EETERL,

HIPIREE

1A—60A 61A—200A 201 A—500A
5216% m5:26.2% B5:40.0%
(79A) (96.0) (10A)
04:53.6% 04:49.7% 04:40.0%
(1964) (1824) (10A)
03:18.6% m3:19.1% 03:12.0%
(681) (70A) (BA)
02:11% o211% 02:00%
@A) [ON] 0A)
152% o13.8% D18.0%
(19A) (14A) 2A)
0:0.0% 20:0.0% D0:0.0%
(0A) (OA) (OA)
< FiYfE =3.85 > < FiYfE=3.93 > < it =4.04 >
EmERPEEE
1A—60A 61A—200A 201 A—500A
B5:6.3% B5:18.5% B5:22.2%
an) (10A) (16.A)
04:75.0% 04:51.9% 04:54.2%
(12A) (28A) (39A)
03:12.5% 03:22.2% 03:15.3%
2A) (12A) (11A)
D263% o23.7% D28.3%
(tA) @A) (6A)
B1:0.0% o13.7% BL1:0.0%
[ON] @A) 0A)
0:0.0% B0:0.0% B0:0.0%
A (OA) ©0A)
< FigfE=3.81 > < FigfE=3.78 > < FigfE=3.9 >
FURMEX L 2—HE
1A—60A 61A—200A 201 A—500A
B5:0.0% B5:40.0% |551.4%
(0A) (4A) (181)
B4:50.0% 04:60.0% 04:48.6%
2A) (6A) 7A)
3:50.0% 03:0.0% 03:00%
@A) (OA) (OA)
02:0.0% 02:00% 02:00%
[ON] 0A) 0A)
B1:0.0% BL0.0% BL0.0%
(0A) (OA) (OA)
B0:0.0% B0:0.0% B0:0.0%
oA ©0A) ©0A)
< F9fE=35 > < PfEi=44 > < FifE-=451 >
SNEEEERA
1A—60A 61A—200A
B5:29.2% @5:0.0%
(831A) (OA)
04:55.8% @4:100.0%
(1585.A) aA)
O3:111% @3:0.0%
(315A) OA)
ouL7% 02:0.0%
(47.0) OA)
o123% @1:0.0%
(64.0) OA)
B0:0.0% @0:0.0%
(A) (A)
< FYfE =4.08 > < FYfE=4 >
— .
YUITAT4T-Cvi VB
1A—60A 61A—200A 201 A—500A
B5:50.0% @5:0.0% B5:308%
@A) (0A) (8A)
B4:50.0% @4:100.0% 04:69.2%
aA) aA) (18A)
03:0.0% @3:0.0% 03:0.0%
(0A) (0A) (OA)
02:0.0% 02:0.0% 02:00%
(0A) (0A) (OA)
B1:0.0% @1:0.0% BL0.0%
(0A) (0A) (OA)
B0:0.0% @0:0.0% B0:0.0%
oA oA ©0A)

< Fi9fE=45 >

< FifE=a >

< FifE=431 >




[004)]CDIBEIEITNRICHE->TEDHSNTWVET M ?

5=m<ZE3R3, 4=%3/3, I=ELHELVAAL, 2=F3BHELY,

1=2<Z3BbRL,

O=[EETERL,

FrUTHEZERE

1A—60A 61A—200A 201 A—500A
@5:0.0% @5:100.0% B5:42.9%
(OA) 2A) (15A)
24:100.0% 24:0.0% 04:45.7%
QA) OA) (16A)
@3:00% @3:0.0% 03:8.6%
(OA) (0A) BA)
02:00% 02:0.0% 02:00%
(OA) (0A) (OA)
@L0.0% @10.0% o1:2.9%
(OA) (0A) (1A)
@0:0.0% 20:0.0% D0:0.0%
(OA) (OA) (OA)
< FigfE=a > < Figfl=5 > < FifE=4.26 >
BR- AMAEERE B
1A—60A 61A—200A 201 A—500A
85:26.9% B5:40.5% B5:37.5%
(09N a7A) (36A)
04:55.8% 04:50.0% 04:53.1%
(290) (214) (514)
03:7.7% 03:7.1% 03:9.4%
4A) (BA) (OA)
02:0.0% 02:00% 02:00%
(0A) (OA) (OA)
B19.6% o1:2.4% BL1:0.0%
(5A) aA) ©OA)
0:0.0% B0:0.0% B0:0.0%
©0A) (0A) ©OA)

< FfE=3.9 >

< FigfE=4.26 >

< FigfE=4.28 >




[004)]CDIBEIEITNRICHE->TEDHSNTWVET M ?

1=2<Z3BbRL,

5=m<Z5383, 4=%385,

BI=ELLEBNRAL,

2=F5BHILN,

O=[EETERL,

EHREMER

m5:28.6%
(N}
04:57.1%
(8A)
03:14.3%
@A)
02:0.0%
(0A)
B1:0.0%
(0A)
00:0.0%
(OA)

< FHfE=4.14 >

MEHRMEA

@5:100.0%
aA)
24:0.0%
(0A)
@3:0.0%
(0A)
02:0.0%
(0A)
@10.0%
(0A)
20:0.0%
(OA)

< FiflE=5 >

HIPHEREE

m5:231%
BA)
D4:61.5%
(8A)
3:15.4%
@A)
02:00%
(OA)
BL0.0%
(OA)
D0:0.0%
(OA)

< il = 4.08 >




[005]CDBEDEEBOARBHRATHLIAYPTVTTM?

5=m<Z5383, 4=%385,

BI=ELLEBNRAL,

2=F5BHILN,

1=2<Z3BbRL,

O=[EETERL,

L¥EHE

1A—60A 61A—200A 201 A—500A 501A—
m5:328% m5:31.4% B5:35.3% @5:44.0%
(1243A) (2490) (288) (114)
04:46.0% 04:42.2% 04:43.8% 04:40.9%
(1742A) (335A) (358A) (106.A)
03:14.3% O3:17.0% 03:14.9% m3:12.0%
(5430) (135A) (122A) (31A)
D2:4.6% 026.3% 02:43% o22.7%
(17a1) (50A) (35A)
o12.1% @12.5% DLL6%
(780) (20A) (134)
00:0.1% @0:0.5% 00:0.1%
(50) [UON) ar)
< FiYfE =4.03 > < FiYfE=3.94 > < FiYfiE = 4.07 > < FiYfE =425 >
MEETE
1A—60A 61A—200A 201 A—500A 501A—
B5:28.6% B5:50.0% B5:43.5% B5:48.6%
(09N (194) (30A) (670)
04:61.2% 04:50.0% 04:42.0% 04:38.4%
(30A) (194) (290) (53A)
03:8.2% 03:00% 03:13.0% 3:11.6%
[LON] (OA) OA) (16A)
D2:2.0% 02:00% 02:00% o2:1.4%
@A) (OA) (OA) (2A)
B1:0.0% BL1:0.0% o1:1.4% BL1:0.0%
(0A) (0A) (1A) (0A)
0:0.0% B0:0.0% B0:0.0% B0:0.0%
(OA) (OA) (OA) (OA)
< it =416 > < FiYfE =45 > < i =426 > < FiYfE =434 >
BEYEEA
201 A—500A 501A—
B5:25.0% B5:33.3%
@A) (1A)
04:50.0% 04:66.7%
[ON] @A)
3:12.5% 03:0.0%
(1A) (OA)
02:00% 02:00%
(OA) (OA)
o112.5% BL0.0%
(1A) (0A)
B0:0.0% B0:0.0%
(OA) (OA)
< FifE=3.75 > < FifE-=433 >
APERA
1A—60A 61A—200A 201 A—500A 501A—
B5:42.0% @5:38.1% B5:423% B5:45.8%
(50A) (1024) (101A) (224)
B4:47.1% @4:44.4% 4:37.7% 04:29.2%
(56A) (1194) (904) (144)
03:9.2% O3:11.6% 3:13.4% 3:18.8%
1A) (31A) (324) (OA)
02:0.8% o2:4.9% 025.4% o24.2%
) (134) (13A) 2A)
B10.8% oLL1% oL13% o12.1%
@A) BA) BA) (1A)
B0:0.0% @0:0.0% 00:0.0% B0:0.0%
(0A) (OA) (OA) (OA)
< FfE=4.29 > < FfE=413 > < FfE=4.14 > < FfE=413 >
BURFEEA
1A—60A 61A—200A 201 A—500A 501A—
|5:47.7% B5:50.0% B530.7% B5:34.3%
(21A) (5A) (654) (240)
4:36.4% 04:40.0% B4:49.1% 04:52.9%
(16A) (4A) (104.4) [EN]
03:9.1% 03:100% 3:15.6% O3:8.6%
[N (1A) (33A) (6A)
o2:23% 02:0.0% 02:33% o2:4.3%
aA) (OA) (7A) (3A)
BL45% BL0.0% B1:0.9% BL0.0%
@A) (OA) 28] (OA)
B0:0.0% B0:0.0% B0:0.5% B0:0.0%
(OA) (OA) (1A) (OA)

< Fi9fE=4.2 >

< FiflE-44 >

< Fi{E=4.06 >

< FifE=417 >




[005]CDBEDEEBOARBHRATHLIAYPTVTTM?

S=MI(T3B3, 4=T3B3, 3I=EBLLLLALL. 2=T3BbBL,  1=2(T3BDHL.  0O=EETIHL.
BETFEHEA
1A—60A 61A—200A 201 A—500A
5:18.1% m5:235% B5:36.0%
(661) (86.0) (OA)
4:47.0% 04:41.5% 04:200%
a71A) (1524) (5A)
[3:20.6% m3:221% 03:24.0%
(750) (81A) (6A)
02:10.2% o28.5% D0216.0%
[E2N) (B31A) (4A)
0138% @14.1% DL1:4.0%
(09N (15A) (1A)
0:03% @0:0.3% D0:0.0%
(aA) aA) (OA)
< i =3.66 > < FiYfE=3.72 > < FiYfE =3.68 >
EmERPEEE
1A—60A 61A—200A 201 A—500A
B5:18.8% B5:14.8% B5:13.9%
(BA) (8A) (10A)
04:37.5% 04:40.7% D4:51.4%
(BA) (22A) (B7A)
03:31.3% 3:31.5% 03:22.2%
(5A) 7A) (16A)
D263% o25.6% D26.9%
(tA) BA) (5A)
B1:0.0% o13.7% OL5.6%
[ON] @A) [N
00:6.3% B0:3.7% B0:0.0%
ar) @A) (OA)
< FHfE=3.73 > < FHfE=3.6 > < FHfE=3.61 >
FURMEX L 2—HE
1A—60A 61A—200A 201 A—500A
|5:25.0% B5:45.5% |5:57.1%
(1A) (5A) (20A)
B4:75.0% 04:45.5% 04:34.3%
(BA) (5A) (12A)
03:0.0% 03:9.1% O3:8.6%
(0A) (1A) BA)
02:0.0% 02:00% 02:00%
[ON] 0A) 0A)
B1:0.0% BL0.0% BL0.0%
(0A) (OA) (OA)
B0:0.0% B0:0.0% B0:0.0%
oA ©0A) ©0A)
< FYfE =425 > < FiYfE =436 > < EHfE =4.49 >
SNEEEERA
1A—60A 61A—200A
B5:33.5% @5:0.0%
(952A) (OA)
04:46.5% @4:100.0%
(13214) aA)
03:13.9% @3:0.0%
(394.A) OA)
D2:4.1% 02:0.0%
(116.A) OA)
B1:2.0% @1:0.0%
(58A) OA)
00:0.1% @0:0.0%
@A) (A)
< FYfE =4.05 > < FYfE=4 >
— .
YUITAT4T-Cvi VB
1A—60A 61A—200A 201 A—500A
B5:50.0% @5:0.0% B5:34.6%
@A) (0A) (OA)
B4:0.0% @4:100.0% B4:57.7%
(OA) aA) (15A)
3:50.0% @3:0.0% o3:7.7%
@A) (0A) @A)
02:0.0% 02:0.0% 02:00%
(0A) (0A) (OA)
B1:0.0% @1:0.0% BL0.0%
(0A) (0A) (OA)
B0:0.0% @0:0.0% B0:0.0%
oA oA ©0A)

< FifE=4 >

< FifE=a >

< FifE=427 >




[005]CDBEDEEBOARBHRATHLIAYPTVTTM?

5=3<Z585, 4=F3B3, B=EBLELLRAGL, 2=Z3BbiL, 1=2{Z53BbhAL, O0=EZETELL,
FrUTHHEZERE
1A—60A 61A—200A 201 A—500A
@5:0.0% @5:100.0% B5:40.0%
(0A) @A) (140)
24:0.0% 24:00% 04:48.6%
(OA) OA) (A7)
[3:100.0% @3:0.0% 03:8.6%
(LA) (0A) BA)
02:0.0% 02:0.0% 02:0.0%
(OA) (0A) (OA)
@L0.0% @10.0% o1:2.9%
(OA) (0A) (1A)
90:0.0% 30:0.0% 30:0.0%
(OA) (OA) (OA)
< FHfE=3 > < FiYfE=5 > < FiYfE =423 >
BR- AMAEERE B
1A—60A 61A—200A 201 A—500A
B5:17.3% B5:52.4% 85:29.2%
[©N)] (220) (28A)
04:38.5% 04:28.6% 04:46.9%
(20A) (124) (asA)
03:30.8% 03:95% 03:17.7%
(16.A) (4A) (17.A)
D2:9.6% o27.1% D26.3%
(5A) BA) (6A)
D1:1.9% 21:0.0% 21:0.0%
@A) (OA) (OA)
20:1.9% 00:2.4% 20:0.0%
ar) aA) (OA)

< FifE=3.61 >

< FiYfE =429 >

< FigfE=3.99 >




[005]CDBEDEEBOARBHRATHLIAYPTVTTM?

1=2<Z3BbRL,

5=m<Z5383, 4=%385,

BI=ELLEBNRAL,

2=F5BHILN,

O=[EETERL,

EHREMER

m5:28.6%
(N}
04:42.9%
(6A)
03:14.3%
@A)
027.1%
@A)
oL7.1%
aA)
00:0.0%
(OA)

< FHfE=3.79 >

MEHRMEA

@5:100.0%
aA)
24:0.0%
(0A)
@3:0.0%
(0A)
02:0.0%
(0A)
@10.0%
(0A)
20:0.0%
(OA)

< FiflE=5 >

HIPHEREE

m5:231%
BA)
04:46.2%
(6A)
3:15.4%
@A)
o27.7%
(1A)
BL7.7%
(1A)
D0:0.0%
(OA)

< FigfE=3.69 >




[006]DREXTHEMNGEFEADERERIFELLM?

5=m<Z5383, 4=%385,

BI=ELLEBNRAL,

2=F5BHILN,

1=2<Z3BbRL,

O=[EETERL,

L¥EHE

1A—60A 61A—200A 201 A—500A 501A—
m5:289% m5:22.7% B5:26.4% m5:26.2%
(1095.A) (180.A) (216.A) (684)
04:45.7% 04:40.5% 4:39.9% 04:43.1%
(1730A) (321A) (326.A) (1124)
03:17.6% [3:25.5% 03:26.2% m3:22.7%
(667.0) (2024) (214A) (59A)
02:5.2% o27.7% 025.1% 026.9%
(1964) (614) (421) (184)
oL25% @12.9% D123% o112%
(96 1) (230) (194) (BA)
00:0.1% @0:0.6% 00:0.0% 20:0.0%
BA) (5A) (OA) (OA)
< FigfE=3.93 > < Fi9{E=373 > < FifE=3.83 > < FifE=3.86 >
MEETE
1A—60A 61A—200A 201 A—500A 501A—
85:20.4% B5:30.2% §5:29.0% B5:25.4%
(10A) (134) (204) [EEN]
04:57.1% 04:39.5% 04:44.9% 04:42.8%
(280) (154) (31A) (59A)
03:18.4% 03:15.8% 03:21.7% 03:23.9%
[EXN] (6A) (15A) (33A)
D2:4.1% o27.9% D2:4.3% o27.2%
2A) BA) BA) (10A)
B1:0.0% o1:2.6% BL1:0.0% BL10.7%
(0A) (1A) (OA) (1A)
0:0.0% B0:0.0% B0:0.0% B0:0.0%
(OA) (OA) (OA) (OA)
< FigfE=3.94 > < Fi9{E=3.95 > < Fi{E=3.99 > < FigfE=3.85 >
BEYEEA
201 A—500A 501A—
B5:12.5% B5:33.3%
(1A) (1A)
04:25.0% 04:66.7%
@A) @A)
03:37.5% 03:0.0%
BA) (OA)
o2125% 02:00%
(1A) (0A)
o112.5% BL0.0%
(1A) (0A)
B0:0.0% B0:0.0%
(OA) (OA)
< FigfE=3.13 > < FifE-=433 >
APERA
1A—60A 61A—200A 201 A—500A 501A—
B531.9% @5:20.3% B5:33.1% B5:29.2%
(38A) (651) (790) (144)
B4:47.1% @4:43.4% 04:35.6% 04:37.5%
(56A) (116.A) (854) (184)
03:15.1% o3:24.7% 03:21.8% 3:18.8%
(18A) (66.0) (524) (OA)
o25.0% o2s.2% o27.5% 02:104%
(6A) (144) (184) (5A)
B10.8% @12.2% o12.1% B1:4.2%
@A) (6A) (5A) @A)
B0:0.0% @0:0.0% B0:0.0% B0:0.0%
(0A) (OA) (OA) (OA)
< FifE=4.04 > < FifE=3.82 > < FigfE=39 > < FfE=3.77 >
BURFEEA
1A—60A 61A—200A 201 A—500A 501A—
B5:34.1% B5:30.0% B5:221% |5:25.4%
(15A) (BA) 22N (184)
B4:40.9% 04:60.0% 04:39.9% 04:46.5%
(18A) (6A) (854) (334)
3:11.4% 03:0.0% 3:32.4% 03:23.9%
(5A) (OA) (69A) (17A)
D26.8% 02:0.0% o23.3% o24.2%
BA) (OA) (7A) (3A)
oL6.8% BL0.0% o1:2.3% BL0.0%
BA) (OA) (5A) (OA)
B0:0.0% 0:10.0% B0:0.0% B0:0.0%
(OA) (1A) (OA) (OA)

< Fi{E=3.89 >

< FifE=433 >

< Fi{E=3.76 >

< Fi{E=3.93 >




[006]DREXTHEMNGEFEADERERIFELLM?

5=m<Z5383, 4=%385,

BI=ELLEBNRAL,

2=F5BHILN,

1=2<Z3BbRL,

O=[EETERL,

HIPIREE

1A—60A 61A—200A 201 A—500A
5:17.8% @5:19.9% B5:36.0%
(651) (713A) (OA)
4:41.9% 04:39.6% 04:24.0%
(1534) (145A) (6A)
3:24.7% m3:25.7% 03:16.0%
(90A) (94A) (4A)
02:123% o211.2% 02:12.0%
(4sA) (41A) (BA)
133% o13.6% D1:12.0%
12A) (13A) (BA)
0:0.0% 20:0.0% D0:0.0%
(0A) (OA) (OA)
< FigfE=3.59 > < FigfE=3.61 > < FigfE=3.6 >
EmERPEEE
1A—60A 61A—200A 201 A—500A
B5:18.8% B5:13.0% B5:22.2%
(BA) 7A) (16A)
04:56.3% D4:31.5% 04:36.1%
9A) 7A) (26A)
03:18.8% 3:44.4% 03:30.6%
BA) (240) (220)
D263% o21.9% o25.6%
(tA) (1A) (@A)
B1:0.0% OL5.6% OL5.6%
[ON] BA) [N
0:0.0% B0:3.7% B0:0.0%
A @A) ©0A)
< FigfE=3.88 > < FigfE=3.46 > < FifE=3.64 >
FURMEX L 2—HE
1A—60A 61A—200A 201 A—500A
|5:25.0% B5:18.2% B5:37.1%
(1A) @A) (13A)
B4:50.0% 04:36.4% 04:40.0%
@A) (4A) (140)
03:0.0% 03:27.3% 03:200%
(0A) BA) 7A)
02:25.0% 029.1% o2:2.9%
an) an) an)
B1:0.0% BL0.0% BL0.0%
[ON] 0A) 0A)
B0:0.0% 00:9.1% B0:0.0%
(0A) aA) (OA)
< FfE=3.75 > < FigfE=37 > < FfE=411 >
SNEEEERA
1A—60A 61A—200A
B5:29.5% @5:0.0%
(838.A) (OA)
04:47.4% @4:100.0%
(1348.0) aA)
3:16.4% @3:0.0%
(466.A) OA)
02:4.0% 02:0.0%
(115.A) OA)
BL2.6% @1:0.0%
(740) OA)
00:0.1% @0:0.0%
(BA) (OA)
< FifE=3.97 > < FigfE=4 >
- .
YUITAT4T-Cvi VB
1A—60A 61A—200A 201 A—500A
B5:0.0% @5:0.0% B5:15.4%
(0A) (0A) (@A)
B4:50.0% @4:0.0% 04:69.2%
aA) (OA) (18A)
03:0.0% 03:100.0% 3:15.4%
(0A) @A) (@A)
02:50.0% 02:0.0% 02:00%
(tA) (0A) (OA)
B1:0.0% @1:0.0% BL0.0%
(0A) (0A) (OA)
B0:0.0% @0:0.0% B0:0.0%
(OA) (OA) (OA)

< F9fE=3 >

< FifE=3 >

< FifE=a >




[006]DREXTHEMNGEFEADERERIFELLM?

5=m<ZE3R3, 4=%3/3, I=ELHELVAAL, 2=F3BHELY,

1=2<Z3BbRL,

O=[EETERL,

FrUTHEZERE

1A—60A 61A—200A 201 A—500A
@5:0.0% B5:50.0% m5:28.6%
(OA) aA) (10A)
24:0.0% 04:50.0% D4:51.4%
(OA) QA) (18A)
[3:100.0% 03:00% 03:200%
(LA) (OA) 7A)
02:0.0% 02:0.0% 02:00%
(OA) (OA) (OA)
@L0.0% BL0.0% BL0.0%
(OA) (OA) (OA)
90:0.0% 30:0.0% D0:0.0%
(OA) (OA) (OA)
< FHfE=3 > < FiYfE =45 > < FiYfiE = 4.09 >
BR- AMAEERE B
1A—60A 61A—200A 201 A—500A
B5:13.5% B5:38.1% B5:17.9%
7N (16.A) (17.A)
04:26.9% 04:38.1% 04:43.2%
(1aA) (16.A) (a1A)
03:42.3% 03:19.0% 03:32.6%
(224) (8A) (B31A)
D2:13.5% o2:2.4% o25.3%
(7A) (1A) (5A)
o13.8% 21:0.0% D111%
@A) (0A) [t9N)
0:0.0% 0:2.4% B0:0.0%
A aA) ©0A)

< Fi9fE=333 >

< FifE =415 >

< FigfE=3.72 >




[006]DREXTHEMNGEFEADERERIFELLM?

5=m<Z5383, 4=%385,

BI=ELLEBNRAL,

2=F5BHILN,

1=2<Z3BbRL,

O=[EETERL,

EHREMER

|535.7%
(5A)
04:50.0%
7A)
03:7.1%
@A)
02:0.0%
(0A)
oL7.1%
aA)
00:0.0%
(OA)

< FifE=4.07 >

MEHRMEA

@5:100.0%
aA)
24:0.0%
(0A)
@3:0.0%
(0A)
02:0.0%
(0A)
@10.0%
(0A)
20:0.0%
(OA)

< FiflE=5 >

HIPHEREE

B5:308%
(@A)
D4:53.8%
7A)
O3:7.7%
(1A)
02:00%
(OA)
BL7.7%
(1A)
D0:0.0%
(OA)

< FigfE=a >




[007)Bp 75 - IXC DB EERFELELI=M?

5=RELL, 4=1—20RE, 3=3—4ERKE, 2=5-6EKE. 1=7EULRE,
Bk X
£PEHE
1A—60A 61A—200A 201 A—500A 501A—
5:87.1% m5:85.5% 5:90.7% m5:87.3%
(32950) (677A) (7390) (226 )
04:12.2% 04:13.3% D4:8.6% 04:12.0%
(460.A) (105A) (70N) (31A)
03:08% @3:0.9% 03:0.6% 03:04%
(29A) (7A) (5A) (1A)
02:0.0% o2:0.1% 02:0.0% o2:0.0%
0A) (1A) (0A) (0A)
D10.0% @10.3% D1:0.1% @10.4%
(0A) (2A) (LA) (LA)
< i = 4.86 > < i =a.84 > < FiYfE =49 > < it = a.86 >
Bk X
HPEEAE
1A—60A 61A—200A 201 A—500A 501A—
5:87.8% 5:89.5% 5:94.2% m5:89.1%
(434) [EZON) (65A) (1234)
04:12.2% 04:10.5% D4:5.8% 04:10.9%
[(FN] @A) [LUN] (15A)
03:0.0% 03:00% 03:00% @3:00%
©0A) (0A) (0A) (0A)
02:0.0% 02:00% 02:00% 02:00%
0A) (0A) (0A) (0A)
D10.0% BL0.0% BL0.0% @L0.0%
(0A) (0A) (OA) (OA)
< FiYfE =488 > < FiYfE =489 > < FiYfE =494 > < FiYfE =489 >
Ak
RFFHEA
201 A—500A 501A—
5:62.5% 5:100.0%
(5A) BA)
04:37.5% @4:0.0%
(3A) (0A)
03:00% @3:0.0%
(OA) (0A)
02:00% 02:0.0%
(OA) (0A)
D1:0.0% @1:0.0%
(OA) (0A)
< FigfE=4.63 > < FigfE=5 >
Bk X
APERA
1A—60A 61A—200A 201 A—500A 501A—
5:80.7% m5:79.1% 5:84.9% 5:83.0%
(96 1) (212) (2024) (394)
D4:18.5% 04:19.8% D4:13.9% 04:12.8%
(220) (53A) (33A) (6A)
03:08% o3:1.1% 03:13% 03:2.1%
an) (BA) (BA) (1A)
02:0.0% o2:0.0% 02:0.0% 02:00%
(0A) (OA) (OA) (OA)
o1:0.0% @1:0.0% 1:0.0% D1:2.1%
0A) (0A) (0A) (1A)
< Fi9fE-=48 > < FifE-=478 > < FigfE-4.84 > < FifE-=474 >
Ak
BURFEEA
1A—60A 61A—200A 201 A—500A 501A—
5:86.4% 5:80.0% 5:95.7% 5:85.9%
(38A) (8A) (2024) (614)
D4:13.6% 04:200% 24:33% 04:14.1%
(6A) 2A) (7A) (10A)
03:0.0% 03:00% 03:0.9% 03:00%
0A) (0A) 2A) (0A)
02:0.0% 02:00% 02:0.0% 02:00%
(0A) (OA) (OA) (OA)
o1:0.0% o10.0% 01:0.0% B1:0.0%
(0A) (0A) (0A) (0A)
< FifE-4.86 >

< FifE=486 >

< FifE-4.8 >

< FifE=495 >




[007)Bp 75 - IXC DB EERFELELI=M?

5=RELL, 4=1—20RE, 3=3—4ERKE, 2=5-6EKE. 1=7EULRE,
Ak
BETFEHEA
1A—60A 61A—200A 201 A—500A
5:92.9% @5:90.4% 5:92.0%
(339A) (330A) (23A)
4:63% 04:8.8% D4:8.0%
(23A) (320) 2A)
03:08% o3:08% 03:00%
(BA) (BA) (OA)
02:0.0% o2:0.0% 02:0.0%
(OA) (0A) (OA)
01:0.0% @L0.0% BL0.0%
(0A) (0A) (OA)
< FigfE=4.92 > < FigfE=4.9 > < FigfE=4.92 >
EmERPEEE
1A—60A 61A—200A 201 A—500A
5:100.0% 5:90.7% 5:90.3%
(16A) (a9A) (65A)
24:0.0% D4:3.7% 04:9.7%
(OA) @A) 7A)
@3:00% 03:00% 03:00%
(0A) (0A) (OA)
02:00% o2:1.9% 02:00%
(OA) 1A) (OA)
@L0.0% o13.7% BL0.0%
(0A) (2A) (OA)
< FfE=5 > < FifE =476 > < FiYfE =49 >
FURMEX L 2—HE
1A—60A 61A—200A 201 A—500A
5:100.0% B5:72.7% 05:94.3%
[CN] (8A) (33A)
@4:0.0% 04:27.3% D4:5.7%
(0A) (BA) 2A)
@3:0.0% 03:00% 03:00%
(0A) (OA) (OA)
o2:0.0% 02:00% 02:00%
(OA) (OA) (OA)
@1:0.0% o1:0.0% D1:0.0%
(0A) (OA) (OA)
< FfE=5 > < FYfE=4.73 > < FiYfE =494 >
NEFEHEHA
1A—60A 61A—200A
5:87.0% 5:100.0%
(24714) (aA)
D4:12.2% @4:0.0%
(347A) (0A)
03:08% @3:0.0%
(23A) (0A)
02:0.0% 02:0.0%
(OA) (OA)
o1:0.0% @1:0.0%
(0A) (0A)
< FifE=4.86 > < FigfE=5 >
— s
YUITAT4T-Cvi VB
1A—60A 61A—200A 201 A—500A
5:100.0% 5:100.0% 5:100.0%
@A) (1A) (26A)
@4:0.0% @4:0.0% 04:0.0%
(0A) (OA) (OA)
@3:00% @3:0.0% 03:0.0%
(0A) (OA) (OA)
o2:0.0% 02:0.0% 02:0.0%
(OA) (0A) (0A)
@1:0.0% @1:0.0% o1:0.0%
(OA) (OA) (OA)

< Fi9fEi=5 >

< FigfE=5 >

< FigfE=5 >




[007)Bp 75 - IXC DB EERFELELI=M?

5=REHL, 4=1—2ERKE, 3=3—4RNRE,

2=5—6ERXE,

1=7EULERFE,

FrUTHEZERE

1A—60A 61A—200A 201 A—500A
5:100.0% 5:100.0% B5:91.4%
(1A) [e2N] (320)
24:0.0% 04:0.0% D4:5.7%
(OA) (0A) @A)
@3:00% @3:0.0% 03:00%
(0A) (OA) (OA)
o2:0.0% 02:0.0% 02:0.0%
(0A) (OA) (OA)
@L0.0% @10.0% o1:2.9%
(0A) (0A) (1A)
< FigfE=0 > < Figfl=5 > < FifE=4.83 >
- ] 3
BR- AMAEERE B
1A—60A 61A—200A 201 A—500A
5:90.4% 5:76.2% 5:89.6%
[G22N] (32A) (86 M)
04:9.6% D4:21.4% 04:10.4%
(5A) [C2N] (10A)
03:0.0% 03:2.4% 03:00%
(OA) 1A) (OA)
02:0.0% 02:00% 02:00%
(OA) (OA) (OA)
D10.0% BL0.0% BL0.0%
(0A) (0A) (OA)

< FigfE=49 >

< EHfE=4.74 >

< EHfE=4.9 >




[007)Bp 75 - IXC DB EERFELELI=M?

5=REHXL, 4=1—20RKE,

3=3—4[ERE, 2=5—-6EHRE.,

1=7EULERFE,

EHREMER

@5:100.0%
(14A)
04:0.0%
(OA)
@3:00%
(0A)
o2:0.0%
(0A)
@L0.0%
(OA)

< FfE=0 >

MEHRMEA

5:100.0%
(aA)
04:0.0%
(0A)
@3:0.0%
(OA)
02:0.0%
(OA)
@10.0%
(0A)

< Figfl=5 >

HIPHEREE

85:100.0%
(134)
04:00%
(0A)
03:00%
(OA)
02:0.0%
(OA)
D10.0%
(0A)

< FigfE=5 >




[008]B =3 BEITFHENCOVCDBRROBRNADFE(FE - EE -REF)ZTOTLEFIN?

5=28f L, 4=1BM30HEE,

3=1KMHEE.

2=307E.

1=085f4.

£FHHA
1A—60A

@5:11.8%

61A—200A

@5:7.4%

201 A—500A

501 A—

B57.1% m5:3.9%
(4470) (59A) (58A) (10A)
04:14.0% 04:9.0% 04:9.7% 04:9.7%
(531A) (71A) (79A) (25A)
03:34.6% 3:205% 03:25.6% 03:27.9%
(1309.A) (162.1) (209.1) (72M)
02:32.4% o2:43.1% 02:44.0% 02:39.5%
(1227A) (3410) (3590) (102.1)
oL7.2% @1:201% D1:13.6% @1:19.0%
(2720) (1594) (111A) (490)
< FigfE=291 > < FigfE=2.41 > < FigfE=253 > < FigfE=24 >
Al o o
MEETE
1A—60A 61 A—200A 201 A—500A 501 A—
B5:0.0% 5:10.8% m5:7.2% m5:5.1%
OA) (@A) (5A) 7A)
D4:4.2% D4:2.7% D4:11.6% 04:7.3%
@A) (1A) (8A) (10A)
03:31.3% 03:16.2% 03:21.7% 03:24.1%
(15A) (6A) (15A) (33A)
02:41.7% 02:43.2% 02:42.0% D2:38.0%
(20A) (16.A) (29M) (52M)
B1:22.9% 01:27.0% D117.4% B1:25.5%
(11A) (10A) (124) (35A)
< PifE=217 > < PifE=227 > < FigfE =249 > < FiYflE=2.28 >
Ak
RFFHEA
201 A—500A 501 A—
B5:0.0% B5:0.0%
(OA) (OA)
04:12.5% 04:66.7%
(1A) 2A)
03:37.5% 03:00%
(3A) (OA)
O237.5% 02:333%
BA) (1A)
D1:12.5% B10.0%
(1A) (OA)
< FigfE=25 > < FifE=3.33 >
Al o
APERA
1A—60A 61 A—200A 201 A—500A 501 A—
5:15.1% @5:1.9% 5:4.6% B5:0.0%
(18A) (5A) (11A) (0A)
D4:15.1% 04:7.8% D4:105% 04:4.3%
(18A) (21A) (25M) 2A)
03:27.7% 03:17.9% 03:27.3% 03:25.5%
(33A) (48A) (65A) (120)
02:28.6% O2:47.0% 02:48.3% o2511%
(34A) (126.A) (115A) (240)
o1:13.4% @1:25.4% 01:9.2% 01:19.1%
(16A) (68A) (220) [EIN]
< FiofE=29 > < FifE=214 > < FifE=253 > < FifE=215 >
Ak
BURFEEA
1A—60A 61 A—200A 201 A—500A 501 A—
B5:0.0% B5:0.0% B5:9.9% 5:4.2%
[ON] (0A) (210) (BA)
04:9.1% 04:10.0% 04:9.9% 04:15.5%
[CON] (1A) (21A) (11A)
03:25.0% 03:10.0% 03:23.0% 03:38.0%
(11A) @A) (49 M) 27A)
02:40.9% 02:80.0% 02:43.7% O2:35.2%
(18A) (8A) (93A) (25A)
1:25.0% o10.0% D1:13.6% oL7.0%
(11A) (OA) (29M) (5A)

< FifE=218 >

< FifE=23 >

< FifE=259 >

< FifE=275 >




[008]B =3 BEITFHENCOVCDBRROBRNADFE(FE - EE -REF)ZTOTLEFIN?

S=2fLl L, 4=1BRI30HIEE,

3=1HRHRRE,

2=3071E.

1=085f4.

HIPIREE
1A—60A

61 A—200A

201 A—500A

m5:11.2% m5:9.3% 5:12.0%
(a10) (34A) (BA)
4:6.8% 04:11.5% 04:12.0%
(25A) (a2A) (BA)
03:27.6% 03:22.1% 03:16.0%
(101A) (81A) (aA)
02:37.4% O2:41.5% 02:44.0%
(137A) (1524) (11A)
1:16.9% @1:15.6% D1:16.0%
(620) (570) (4A)
< FigfE=2.58 > < FifE=257 > < FigfE=26 >
t ERSEHE
1A—60A 61A—200A 201 A—500A
5:68.8% 5:16.7% B5:111%
(11A) (9A) (8A)
04:0.0% 04:9.3% D4:5.6%
(0A) (5A) (@A)
03:6.3% 03:29.6% 03:27.8%
(1A) (16A) (20A)
02:25.0% 02:204% 02:33.3%
(aA) (11A) (240)
D10.0% D1:24.1% 01:22.2%
(OA) (13A) (16A)
< FiYfE =413 > < FiYfE =274 > < FiYfE=25 >
N o
FUYRNEXAE 2 A—FE
1A—60A 61A—200A 201 A—500A
B5:0.0% B5:0.0% B5:8.6%
(0A) (OA) BA)
04:0.0% D4:0.0% 04:2.9%
(OA) (OA) aA)
03:25.0% 03:9.1% 03:22.9%
(aA) 1A) (8A)
02:50.0% D2:63.6% o257.1%
2A) (7A) (20A)
1:25.0% 01:27.3% D18.6%
(aA) (BA) BA)
< FigfE=2 > < FigfE-=182 > < FigfE =246 >
SEEKERE
1A—60A 61A—200A
05:9.3% @5:0.0%
(263A) (0A)
D4:14.5% 4:100.0%
(413A) (1A)
03:37.6% @3:0.0%
(1068.1) (0A)
02:33.5% 02:0.0%
(953A) (OA)
o15.1% @1:0.0%
(145A) (0A)
< FifE=2.89 > < FifE=a >
— s N
IITAT4T vV RHE
1A—60A 61A—200A 201 A—500A
B5:0.0% @5:0.0% 5:12.0%
(0A) (0A) BA)
04:0.0% @4:0.0% 04:16.0%
(OA) (OA) [ON]
03:0.0% @3:0.0% 03:16.0%
(OA) (OA) [ON]
02:50.0% 02:0.0% 02:40.0%
(1A) (OA) (10A)
o1:50.0% @1:100.0% D1:16.0%
(1A) (aA) (aA)

< Fi9fE=15 >

< FifE=1>

< FifE=2.68 >




[008]B =3 BEITFHENCOVCDBRROBRNADFE(FE - EE -REF)ZTOTLEFIN?

5=2RffEI L, 4=1HM309EE, 3=1HMEE. 2=30718E. 1=08fM,

FrUTHEZERE

1A—60A 61 A—200A 201 A—500A
@5:0.0% B5:0.0% B5:0.0%
(0A) (OA) (0A)
24:0.0% 04:0.0% D4:8.6%
(OA) (OA) BA)
3:100.0% 03:50.0% 03:40.0%
(1) (1A) (140)
o2:0.0% 02:50.0% o2:31.4%
(OA) (1A) (11A)
@L0.0% BL0.0% 01:200%
(0A) (0A) (7A)
< FYfE=3 > < FigfE=25 > < FigfE =237 >
A%
BR- AMAEERE B
1A—60A 61 A—200A 201 A—500A
m5:5.8% 5:16.7% B5:4.2%
A [2N) [ON)
04:5.8% 04:0.0% 04:9.4%
(3A) (OA) (OA)
03:17.3% 03:19.0% 03:281%
(9A) (8A) @7A)
02:44.2% 02:47.6% 02:44.8%
(23A) (20A) (43A)
01:26.9% D116.7% D113.5%
(14A) 7A) (134)

< FHfE=2.19 > < FHfE=2.52 > < FEHfE=2.46 >




[008]B =3 BEITFHENCOVCDBRROBRNADFE(FE - EE -REF)ZTOTLEFIN?

5=2RffEI L, 4=1HM309EE, 3=1HMEE. 2=30718E. 1=08fM,

EHREMER MEHRMEA BI¥HEMEA

B5:21.4% @5:0.0% m5:23.1%
(BA) (OA) BA)
04:42.9% 04:0.0% 04:46.2%
(6A) (0A) (6A)
03:14.3% 3:100.0% 03:7.7%
2A) (aA) aA)
02:21.4% 02:0.0% o2:23.1%
(BA) (OA) BA)
D10.0% @10.0% BL0.0%
(0A) (0A) (OA)

< FigfE=3.64 > < FigfE=3 > < FigfE=3.69 >
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